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P = 510510n + 312287

2P 4+ 1 =2(510510n + 312287) + 1 = 1021020n + 624574 + 1 = 1021020n + 624575
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oooo
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P =510510n + 312289

2P + 1 = 2(510510n + 312289) + 1 = 10210201 + 624578 + 1 = 10210201 + 624579
0000010210200 20 2003,5,7,11,13,17000000 10000000

624579 = 3 x 61 x 3413 x 1

good
2P + 1 = 3(340340n + 208193)
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624627 = 3 x 3 x 69403 x 1
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Q=3123290000
P =510510n + 312329

2P + 1 = 2(510510n + 312329) + 1 = 1021020 + 624658 + 1 = 10210201 + 624659
0000010210200 20 2003,5,7,11,13,17000000 10000000

624659 = 7 x 89237 x 1
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P = 510510n + 312331

2P + 1 = 2(510510n + 312331) 4 1 = 10210201 + 624662 + 1 = 10210201 + 624663
0000010210200 20 2003,5,7,11,13,17000000 10000000

624663 =3 x 3 x 13 x 19 x 281 x 1
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2P +1 = 39(26180n + 16017)
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Q=3123370000
P = 510510n + 312337

2P 4+ 1 =2(510510n + 312337) + 1 = 1021020n + 624674 + 1 = 10210201 + 624675
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Q=3123430000
P = 5105100 + 312343

2P + 1 = 2(510510n + 312343) 4+ 1 = 10210201 + 624686 + 1 = 10210201 + 624687
0000010210200 20 2003,5,7,11,13,17000000 10000000

624687 =3 x 7 x 151 x 197 x 1

oooo
2P + 1 = 21(48620n + 29747)
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Q=3123490000
P = 510510n + 312349

2P + 1 = 2(510510n + 312349) + 1 = 10210201 + 624698 + 1 = 10210201 + 624699
0000010210200 20 2003,5,7,11,13,17000000 10000000

624699 =3 x 3 x3 x17x 1361 x 1
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Q=3123530000
P = 510510n + 312353

2P + 1 = 2(510510n + 312353) 4+ 1 = 10210201 4 624706 + 1 = 10210201 + 624707
0000010210200 20 2003,5,7,11,13,17000000 1000000
624707 = 624707 x 1
0000 10210200000000000000
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gbobogobooobooboboobboobbooobuooooboon

Q=3123590000
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Q=3123710000
P = 510510n + 312371

2P + 1 = 2(510510n + 312371) 4+ 1 = 10210200 + 624742 + 1 = 10210201 + 624743
0000010210200 20 2003,5,7,11,13,17000000 10000000

624743 =7 x 31 x 2879 x 1
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2P + 1 = 2(510510n + 312373) 4+ 1 = 10210201 4 624746 + 1 = 10210200 + 624747
0000010210200 20 2003,5,7,11,13,17000000 10000000

624747 =3 x 29 x 43 x 167 x 1
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P = 510510n + 312379
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624759 = 3 x 208253 x 1
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2P + 1 = 3(340340n + 208253)
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Q=3123830000
P = 510510n + 312383

2P + 1 =2(510510n + 312383) + 1 = 1021020n + 624766 + 1 = 1021020n + 624767

0000010210200 20 2003,5,7,11,13,17000000 10000000

624767 =11 x 13 x 17 x 257 x 1
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P = 5105100 + 312391

2P + 1 =2(510510n + 312391) + 1 = 1021020n + 624782 + 1 = 10210201 + 624783

0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=3123970000
P = 510510n + 312397

2P + 1 = 2(510510n + 312397) + 1 = 10210201 + 624794 + 1 = 10210201 + 624795
0000010210200 20 2003,5,7,11,13,17000000 10000000

624795 =3 x5 x 23 x 1811 x 1
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P = 510510n + 312401
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Q=3124070000
P = 510510n + 312407

2P + 1 = 2(510510n + 312407) 4+ 1 = 10210201 + 624814 + 1 = 10210200 + 624815
0000010210200 20 2003,5,7,11,13,17000000 10000000

624815 =5 x 19 x 6577 x 1
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2P + 1 = 5(204204n + 124963)
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Q=3124130000
P =510510n + 312413

2P + 1 = 2(510510n + 312413) + 1 = 10210201 + 624826 + 1 = 10210200 + 624827
0000010210200 20 2003,5,7,11,13,17000000 10000000

624827 =7 x 89261 x 1

oooo
2P + 1 = 7(145860n + 89261)
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P =510510n + 312419

2P 4+ 1 =2(510510n + 312419) + 1 = 1021020n + 624838 + 1 = 10210201 + 624839
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Q=3124210000
P = 510510n + 312421

2P + 1 = 2(510510n + 312421) 4+ 1 = 10210201 + 624842 + 1 = 10210201 + 624843
0000010210200 20 2003,5,7,11,13,17000000 10000000

624843 = 3 x 3 x 69427 x 1

oooo
2P + 1 = 3(340340n + 208281)
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Q=3124270000
P =510510n + 312427

2P + 1 = 2(510510n + 312427) 4+ 1 = 10210201 + 624854 + 1 = 10210201 + 624855
0000010210200 20 2003,5,7,11,13,17000000 10000000

624855 =3 x5 x 7Tx 11 x541 x 1

oooo
2P + 1 = 1155(884n + 541)
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Q=3124370000
P = 510510n + 312437

2P 4+ 1 =2(510510n + 312437) + 1 = 1021020n + 624874 + 1 = 1021020n + 624875

0000010210200 20 2003,5,7,11,13,17000000 10000000

624875 =5 x5 x 5 x 4999 x 1

oooo
2P + 1 = 5(204204n + 124975)
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goo
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Q=3124390000
P = 5105100 + 312439

2P + 1 =2(510510n + 312439) + 1 = 1021020n + 624878 + 1 = 10210201 + 624879

0000010210200 20 2003,5,7,11,13,17000000 10000000

624879 = 3 x 3 x 69431 x 1

oooo
2P + 1 = 3(340340n + 208293)
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Q=3124490000
P =510510n + 312449

2P 4+ 1 =2(510510n + 312449) + 1 = 1021020n + 624898 + 1 = 1021020n + 624899

0000010210200 20 2003,5,7,11,13,17000000 10000000

624899 = 11 x 56809 x 1

oooo
2P + 1 = 11(92820n + 56809)
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Q=3124510000
P = 510510n + 312451

2P 4+ 1 =2(510510n + 312451) + 1 = 10210201 + 624902 + 1 = 10210201 + 624903

0000010210200 20 2003,5,7,11,13,17000000 10000000

624903 = 3 x 17 x 12253 x 1

oooo
2P + 1 = 51(20020n + 12253)
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Q=3124570000
P = 510510n + 312457

2P + 1 =2(510510n + 312457) + 1 = 1021020n + 624914 + 1 = 1021020n + 624915
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624915 =3 x3x3x3x5x1543 x 1
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2P + 1 = 15(68068n + 41661)
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Q=3124610000
P = 510510n + 312461

2P + 1 = 2(510510n + 312461) 4+ 1 = 10210201 + 624922 + 1 = 10210201 + 624923
0000010210200 20 2003,5,7,11,13,17000000 10000000

624923 = 13 x 53 x 907 x 1

oooo
2P + 1 = 13(78540n + 48071)
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Q=3124630000
P =510510n + 312463

2P 4+ 1 =2(510510n + 312463) + 1 = 10210201 + 624926 + 1 = 1021020n + 624927
ooo000o10210200 20 2003,5,7,11,13,17000000 10000000

624927 = 3 x 208309 x 1

oooo
2P + 1 = 3(340340n + 208309)

ooobOobooo3oboboboooooboboooobobobDobDobooobOobOobDoo
goo

Q=3124670000
P = 510510n + 312467

2P 4+ 1 =2(510510n + 312467) + 1 = 10210201 + 624934 + 1 = 1021020n + 624935

0000010210200 20 2003,5,7,11,13,17000000 10000000

624935 =5 x 124987 x 1

oooo
2P + 1 = 5(204204n + 124987)
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Q=3124690000
P =510510n + 312469

2P + 1 =2(510510n + 312469) + 1 = 1021020n + 624938 + 1 = 10210201 + 624939
obooo00o10210200 20 2003,5,7,11,13,17000000 10000000

624939 = 3 x 7 x 29759 x 1

oooo
2P + 1 = 21(48620n + 29759)
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Q=3124790000
P = 5105100 + 312479

2P + 1 = 2(510510n + 312479) + 1 = 1021020n + 624958 + 1 = 1021020n + 624959
0000010210200 20 2003,5,7,11,13,17000000 1000000

624959 = 47 x 13297 x 1
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2P 4+ 1 =510510m + 114449
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Q=312491 0000
P = 510510n + 312491

2P + 1 = 2(510510n + 312491) 4+ 1 = 10210201 + 624982 + 1 = 10210201 + 624983
0000010210200 20 2003,5,7,11,13,17000000 1000000
624983 = 624983 x 1
0000 10210200000000000000
2P + 1 = 510510m + 114473
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Q=3124930000
P =510510n + 312493

2P 4+ 1 =2(510510n + 312493) + 1 = 10210201 + 624986 + 1 = 1021020n + 624987
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624987 =3 x 3 x 11 x 59 x 107 x 1
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Q=3124970000
P = 510510n + 312497

2P 4+ 1 = 2(510510n + 312497) + 1 = 10210200 + 624994 + 1 = 10210201 + 624995
0000010210200 20 2003,5,7,11,13,17000000 10000000

624995 =5 x 7 x 7 x 2551 x 1

oooo
2P + 1 = 35(29172n + 17857)

obooboooosboogbobooboooboboooboobooboobobooooboOoobOoo
goog

Q=3125030000
P = 510510n + 312503

2P + 1 = 2(510510n + 312503) 4+ 1 = 10210201 4 625006 + 1 = 10210201 + 625007
0000010210200 20 2003,5,7,11,13,17000000 1000000
625007 = 625007 x 1
0000 10210200000000000000
2P + 1 = 510510m + 114497
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Q=3125090000
P = 510510n + 312509

2P 4+ 1 =2(510510n + 312509) + 1 = 1021020n + 625018 + 1 = 10210201 + 625019

0000010210200 20 2003,5,7,11,13,17000000 1000000

625019 = 359 x 1741 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 114509
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Q=3125170000
P = 5105100 + 312517

2P + 1 =2(510510n + 312517) + 1 = 1021020n + 625034 + 1 = 10210201 + 625035

0000010210200 20 2003,5,7,11,13,17000000 10000000

625035 = 3 x 5 x 41669 x 1

oooo
2P + 1 = 15(68068n + 41669)
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Q=3125230000
P =510510n + 312523

2P + 1 =2(510510n + 312523) + 1 = 10210201 + 625046 + 1 = 10210201 + 625047

0000010210200 20 2003,5,7,11,13,17000000 10000000

625047 = 3 x 89 x 2341 x 1

oooo
2P + 1 = 3(340340n + 208349)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=3125270000
P =510510n + 312527

2P 4+ 1 =2(510510n + 312527) + 1 = 1021020n + 625054 + 1 = 10210201 + 625055

0000010210200 20 2003,5,7,11,13,17000000 10000000

625055 =5 x 149 x 839 x 1

oooo
2P + 1 = 5(204204n + 125011)
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Q=3125390000
P = 5105100 + 312539

2P 4+ 1 =2(510510n + 312539) + 1 = 10210201 + 625078 + 1 = 10210201 + 625079
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625079 =7 x 13 x 6869 x 1
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2P + 1 = 91(11220n + 6869)

obooboooobo9loooobooOoooboboooboobo0obUoobUoboooobOoobOoo
goog

Q=3125410000
P = 510510n + 312541

2P + 1 = 2(510510n + 312541) 4+ 1 = 10210201 + 625082 + 1 = 10210201 + 625083
0000010210200 20 2003,5,7,11,13,17000000 10000000

625083 = 3 x 139 x 1499 x 1
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2P + 1 = 3(340340n + 208361)
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Q=3125470000
P = 5105100 + 312547

2P + 1 = 2(510510n + 312547) + 1 = 1021020n + 625094 + 1 = 1021020n + 625095
0000010210200 20 2003,5,7,11,13,17000000 10000000

625095 =3 x 3 x5 x29x479 x 1

oooo
2P + 1 = 15(68068n + 41673)
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Q=3125510000
P =510510n + 312551

2P 4+ 1 =2(510510n + 312551) + 1 = 1021020n + 625102 + 1 = 10210201 + 625103
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2P 4+ 1 =510510m + 114593
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Q=3125530000
P = 510510n + 312553

2P + 1 = 2(510510n + 312553) 4+ 1 = 10210201 4 625106 + 1 = 10210201 + 625107
0000010210200 20 2003,5,7,11,13,17000000 10000000

625107 =3 x 7 x 17 x 17 x 103 x 1

oooo
2P + 1 = 357(2860n + 1751)
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good

Q=3125630000
P = 510510n + 312563

2P + 1 = 2(510510n + 312563) 4+ 1 = 10210201 4 625126 + 1 = 10210201 + 625127
0000010210200 20 2003,5,7,11,13,17000000 1000000

625127 =41 x 79 x 193 x 1
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2P +1 =510510m + 114617
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Q=3125690000
P = 510510n + 312569

2P + 1 = 2(510510n + 312569) 4+ 1 = 10210201 + 625138 4+ 1 = 10210201 + 625139
0000010210200 20 2003,5,7,11,13,17000000 1000000
625139 = 233 x 2683 x 1
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2P 4+ 1 =510510m + 114629
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Q=3125770000
P = 510510n + 312577

2P 4+ 1 =2(510510n + 312577) + 1 = 1021020n + 625154 + 1 = 1021020n + 625155
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625155 =3 x 5 x 71 x 587 x 1

oooo
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Q=3125810000
P = 510510n + 312581

2P + 1 = 2(510510n + 312581) 4 1 = 10210201 + 625162 + 1 = 10210201 + 625163
0000010210200 20 2003,5,7,11,13,17000000 10000000

625163 =7 x 11 x 23 x 353 x 1
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2P +1 = 77(13260n + 8119)
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Q=3125830000
P = 510510n + 312583

2P 4+ 1 =2(510510n + 312583) + 1 = 10210201 + 625166 + 1 = 10210201 + 625167
ooo000o10210200 20 2003,5,7,11,13,17000000 10000000

625167 = 3 x 3 X 69463 x 1
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2P + 1 = 3(340340n + 208389)
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Q=3125800000
P = 5105100 + 312589

2P 4+ 1 =2(510510n + 312589) + 1 = 1021020n + 625178 + 1 = 1021020n + 625179

0000010210200 20 2003,5,7,11,13,17000000 10000000

625179 = 3 x 208393 x 1
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2P + 1 = 3(340340n + 208393)
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Q=3125930000
P = 510510n + 312593
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Q=3126010000
P = 510510n + 312601
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Q=3138430000
P = 5105100 + 313843

2P + 1 =2(510510n + 313843) + 1 = 1021020n + 627686 + 1 = 1021020n + 627687

0000010210200 20 2003,5,7,11,13,17000000 10000000

627687 =3 x 3 x 97T x 719 x 1

oooo
2P + 1 = 3(340340n + 209229)

gooooooo3soooooooooboooooOobooboobDoobbOODoOoDbboUODboO
goo

Q=3138470000
P = 510510n + 313847

2P + 1 =2(510510n + 313847) + 1 = 1021020n + 627694 + 1 = 10210201 + 627695

0000010210200 20 2003,5,7,11,13,17000000 10000000

627695 = 5 x 125539 x 1

oooo
2P + 1 = 5(204204n + 125539)

obobobooosOobobUobOOobobo0obOobOobOUobObUObUObDOobDOobObOobOobDOooOoo
goo

Q=3138490000
P = 5105100 + 313849

2P 4+ 1 =2(510510n + 313849) + 1 = 1021020n + 627698 + 1 = 10210201 + 627699

0000010210200 20 2003,5,7,11,13,17000000 10000000

627699 = 3 x 209233 x 1

oooo
2P + 1 = 3(340340n + 209233)

oooooooob3soooooobooboooooooboooooooDooOobobooooobbOBbOoOn
ooo

Q=3138530000
P = 5105100 + 313853

2P + 1 =2(510510n + 313853) + 1 = 10210201 + 627706 + 1 = 1021020n + 627707
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0000010210200 20 2003,5,7,11,13,17000000 1000000

627707 = 151 x 4157 x 1

oooo 10210200 000000000000

2P +1 =510510m + 117197

goboobooobooboboobboobbooboooboon

Q=3138610000
P = 510510n + 313861

2P + 1 = 2(510510n + 313861) 4+ 1 = 10210201 + 627722 + 1 = 10210201 + 627723
0000010210200 20 2003,5,7,11,13,17000000 10000000

627723 =3 X 3 X 3 X 67 x 347 x 1

oooo
2P + 1 = 3(340340n + 209241)

obooboooo3obobobooooobobooooboboboobDobooobUobDOoooo
goo

Q=313870000
P = 5105100 + 313867

2P + 1 = 2(510510n + 313867) 4+ 1 = 10210201 4 627734 + 1 = 10210200 + 627735
0000010210200 20 2003,5,7,11,13,17000000 10000000

627735 =3 x 5 x 41849 x 1

oooo
2P + 1 = 15(68068n + 41849)

ooooooboOobooboooooboboooooooooDoobDOooDOobDOoboobOooboo
good

Q=3138770000
P = 510510n + 313877

2P 4+ 1 =2(510510n + 313877) + 1 = 1021020n + 627754 + 1 = 1021020n + 627755

0000010210200 20 2003,5,7,11,13,17000000 10000000

627755 =5 x 1255651 x 1

oooo
2P + 1 = 5(204204n + 125551)
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goo

Q=13138790000
P = 510510n + 313879

2P + 1 = 2(510510n + 313879) 4 1 = 10210201 + 627758 4+ 1 = 10210201 + 627759
0000010210200 20 2003,5,7,11,13,17000000 10000000

627759 =3 x 3 x 11 x 17 x 373 x 1

oooo
2P + 1 =561(1820n + 1119)

O0000DbOo0Oslob0ob0obo0o0obooboboo0ob00oo0b0obobOoDOoDOobDOn
good

Q=3138830000
P = 510510n + 313883

2P 4+ 1 = 2(510510n + 313883) + 1 = 10210200 + 627766 + 1 = 10210200 + 627767
0000010210200 20 2003,5,7,11,13,17000000 10000000

627767 =7 x 89681 x 1

oooo
2P + 1 = 7(145860n + 89681)

gooooOooOovyoUooOOoO0OOoO0OOoU0OO0DOOU0DODO0O0ODOOU0ODOOUODOODOOUODOO
goo

Q=3138800000
P = 510510n + 313889

2P + 1 = 2(510510n + 313889) 4 1 = 10210201 + 627778 4+ 1 = 10210201 + 627779
0000010210200 20 2003,5,7,11,13,17000000 1000000
627779 = 19 x 19 x 37 x 47 x 1
0000 10210200000000000000
2P + 1 = 510510m + 117269
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Q=3138910000
P = 510510n + 313891

2P 4+ 1 =2(510510n + 313891) + 1 = 1021020n + 627782 + 1 = 1021020n + 627783
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0000010210200 20 2003,5,7,11,13,17000000 10000000

627783 = 3 x 13 x 16097 x 1

good
2P +1 = 39(26180n + 16097)

obooboooo3ooooooooobobooobooboobooboboooobOoobOoo
good

Q=3138970000
P = 510510n + 313897

2P + 1 = 2(510510n + 313897) + 1 = 10210201 + 627794 + 1 = 10210201 + 627795
0000010210200 20 2003,5,7,11,13,17000000 10000000

627795 =3 x 3 x5 x7x1993 x 1

oooo
2P + 1 = 105(9724n + 5979)

gooooooOoles0oboOoOoO0O0oOO0O0oDOoO0oDOOUDObOObDO0O0OO0OODOUODOO
good

Q=3139030000
P = 510510n + 313903

2P 4+ 1 =2(510510n + 313903) + 1 = 10210201 + 627806 + 1 = 1021020n + 627807
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

627807 = 3 x 209269 x 1

oooo
2P + 1 = 3(340340n + 209269)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=13139090000
P = 510510n + 313909

2P 4+ 1 =2(510510n + 313909) + 1 = 1021020n + 627818 + 1 = 1021020n + 627819

0000010210200 20 2003,5,7,11,13,17000000 10000000

627819 = 3 x 59 x 3547 x 1

oooo
2P + 1 = 3(340340n + 209273)

101



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3139130000
P = 510510n + 313913

2P + 1 = 2(510510n + 313913) + 1 = 10210201 4 627826 + 1 = 10210201 + 627827
0000010210200 20 2003,5,7,11,13,17000000 10000000

627827 = 17 x 36931 x 1

oooo
2P + 1 = 17(60060n + 36931)

g00o0obO0oOobo1vyoooboOo0oO0oOobOOoOoO0bO0oO0DOO0o0ObDO0o0obUobDUoOobDbDOobODbOb
good

Q=3139190000
P = 510510n + 313919

2P 4+ 1 = 2(510510n + 313919) + 1 = 10210201 + 627838 + 1 = 1021020n + 627839
0000010210200 20 2003,5,7,11,13,17000000 1000000

627839 = 197 x 3187 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 117329

gbbooggbogoboobbugobboobbooobuoonbagn

Q=3139210000
P = 510510n + 313921

2P 4+ 1 =2(510510n + 313921) + 1 = 10210201 + 627842 + 1 = 1021020n + 627843

0000010210200 20 2003,5,7,11,13,17000000 10000000

627843 =3 x 31 x43 x 157 x 1

oooo
2P + 1 = 3(340340n + 209281)

o00b0o0O0o03000b0000000b00bO0oOD0oO0b00obO0oDOOobODOoOOoOobOobDOoDbDOn
goo

Q=1313927 0000
P = 510510n + 313927

2P 4+ 1 =2(510510n + 313927) 4+ 1 = 1021020n + 627854 + 1 = 1021020n + 627855
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0000010210200 20 2003,5,7,11,13,17000000 10000000

627855 =3 x 5 x 19 x 2203 x 1

oooo
2P + 1 = 15(68068n + 41857)

oooooooolooooooooooooooobooooboooooboboooobooboOoooDbOn
oooo

Q=3139310000
P = 510510n + 313931

2P 4+ 1 = 2(510510n + 313931) 4+ 1 = 10210201 + 627862 + 1 = 1021020n + 627863
0000010210200 20 2003,5,7,11,13,17000000 1000000

627863 = 139 x 4517 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 117353

gbbogobogoboobboobboobboobuoonboob

Q=13139330000
P = 510510n + 313933

2P + 1 = 2(510510n + 313933) 4+ 1 = 10210201 4 627866 + 1 = 10210201 + 627867
0000010210200 20 2003,5,7,11,13,17000000 10000000

627867 = 3 x 3 X 69763 x 1

oooOo
2P + 1 = 3(340340n + 209289)

oooooooob3soooooobooboooooooboooooooDoobobooooobbOBbOoOn
ooo

Q=3139490000
P = 5105100 + 313949

2P 4+ 1 =2(510510n + 313949) + 1 = 1021020n + 627898 + 1 = 1021020n + 627899

0000010210200 20 2003,5,7,11,13,17000000 1000000

627899 = 293 x 2143 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 117389
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Q=3139610000
P = 5105100 + 313961

2P + 1 = 2(510510n + 313961) 4+ 1 = 10210201 + 627922 + 1 = 10210201 + 627923
0000010210200 20 2003,5,7,11,13,17000000 1000000

627923 = 23 x 23 x 1187 x 1

o000 10210200 000000000000

2P +1 =510510m + 117413

gbbogbogobogbbgobbooboooobuoonobagn

Q=3139670000
P = 510510n + 313967

2P 4+ 1 =2(510510n + 313967) + 1 = 10210201 + 627934 + 1 = 1021020n + 627935

0000010210200 20 2003,5,7,11,13,17000000 10000000

627935 =5 X 7Tx 7x 11 x233 x 1

oooo
2P + 1 = 385(2652n + 1631)

o0obOobOoo3ssooooooooooboobooooooooboboboDooDOoobooo
good

Q=3139690000
P = 510510n + 313969

2P + 1 =2(510510n + 313969) + 1 = 1021020n + 627938 + 1 = 1021020n + 627939

0000010210200 20 2003,5,7,11,13,17000000 10000000

627939 =3 x 3 x 3 x 13 x 1789 x 1

oooo
2P 4 1 = 39(26180n + 16101)

gooOooOooboOo3ooooooob0oboobooUooUoo0oDOobDOooDOobDOobobooboOooog
gogo

Q=13139790000
P = 510510n + 313979

2P + 1 =2(510510n + 313979) + 1 = 1021020n + 627958 + 1 = 1021020n + 627959
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0000010210200 20 2003,5,7,11,13,17000000 1000000

627959 = 277 x 2267 x 1

oooo 10210200 000000000000

2P +1 =510510m + 117449

gboobgobogobooboboobboobbooobooooboon

Q=3139810000
P = 5105100 + 313981

2P + 1 = 2(510510n + 313981) 4+ 1 = 10210201 + 627962 + 1 = 10210201 + 627963
0000010210200 20 2003,5,7,11,13,17000000 10000000

627963 =3 x 7 x 17 x 1759 x 1

ooodo
2P + 1 = 357(2860n + 1759)

OO00Oo0oOooOo3rogobodooooooobooooo0oo0bbo0oooouooDoooDoo
goog

Q=13139870000
P = 510510n + 313987

2P + 1 = 2(510510n + 313987) + 1 = 10210201 4 627974 + 1 = 10210200 + 627975
0000010210200 20 2003,5,7,11,13,17000000 10000000

627975 =3 x 3 x5 xHx2791 x 1

oooOo
2P + 1 = 15(68068n + 41865)

ooooooOooloooooooooooooooooooboooooboboooooboOoooDoobOn
oooo

Q=3139910000
P = 510510n + 313991

2P 4+ 1 =2(510510n + 313991) + 1 = 1021020n + 627982 + 1 = 1021020n + 627983

0000010210200 20 2003,5,7,11,13,17000000 1000000

627983 = 107 x 5869 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 117473
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Q=13139930000
P = 510510n + 313993

2P + 1 = 2(510510n + 313993) 4+ 1 = 10210201 4 627986 + 1 = 10210201 + 627987
0000010210200 20 2003,5,7,11,13,17000000 10000000

627987 = 3 x 353 x 593 x 1

oooo
2P + 1 = 3(340340n + 209329)

gooooooo3soooooooooboooooOobooboobDoobbOODoOoDbboUODboO
goo

Q=3139970000
P = 510510n + 313997

2P + 1 = 2(510510n + 313997) + 1 = 10210201 4 627994 + 1 = 10210201 + 627995
0000010210200 20 2003,5,7,11,13,17000000 10000000

627995 =5 x 29 x 61 x 71 x 1

oooo
2P + 1 = 5(204204n + 125599)

obobobooosOobobUobOOobobo0obOobOobOUobObUObUObDOobDOobObOobOobDOooOoo
goo

Q =3140030000
P = 510510n + 314003

2P 4+ 1 = 2(510510n + 314003) + 1 = 10210201 + 628006 + 1 = 10210201 + 628007
0000010210200 20 2003,5,7,11,13,17000000 1000000
628007 = 19 x 33053 x 1
0000 10210200000000000000
2P + 1 = 510510m + 117497

goooooboobooboooobooobooobobOoobboOoOoobooooDn

Q =3140090000
P = 510510n + 314009

2P + 1 =2(510510n + 314009) + 1 = 1021020n + 628018 + 1 = 10210201 + 628019
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0000010210200 20 2003,5,7,11,13,17000000 10000000

628019 = 7 x 73 x 1229 x 1

oooo
2P + 1 = 7(145860n + 89717)

goooooogvyooooO0oOoO0oOOoO0OoOo0DOOU0DOOoO0DOOo0ODOOUODOOOoDOOUODOoOOd
goo

Q=3140110000
P = 510510n + 314011

2P + 1 = 2(510510n + 314011) 4 1 = 10210201 + 628022 + 1 = 10210201 + 628023
0000010210200 20 2003,5,7,11,13,17000000 10000000

628023 = 3 x 11 x 19031 x 1

oooo
2P + 1 = 33(30940n + 19031)

goooooboOo33boobooooobobooooooooooDobDOooDOobDOoboooboooo
good

Q=314021 0000
P = 510510n + 314021

2P + 1 =2(510510n + 314021) + 1 = 10210201 + 628042 + 1 = 10210201 + 628043
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

628043 = 13 x 48311 x 1

oooo
2P + 1 = 13(78540n + 48311)

oboobOooobooooooooooboboooboooboobooboboooobOoobOoo
googd

Q=3140230000
P = 5105100 + 314023

2P 4+ 1 =2(510510n + 314023) + 1 = 10210201 + 628046 + 1 = 10210201 + 628047

0000010210200 20 2003,5,7,11,13,17000000 10000000

628047 =3 x3x3 x7x3323x1

oooo
2P + 1 = 21(48620n + 29907)
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Q =3140290000
P = 510510n + 314029

2P + 1 =2(510510n + 314029) + 1 = 10210201 + 628058 + 1 = 10210201 + 628059

0000010210200 20 2003,5,7,11,13,17000000 10000000

628059 = 3 x 209353 x 1

good
2P + 1 = 3(340340n + 209353)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=3140330000
P = 510510n + 314033

2P + 1 =2(510510n + 314033) + 1 = 1021020n + 628066 + 1 = 10210201 + 628067

0000010210200 20 2003,5,7,11,13,17000000 10000000

628067 = 11 x 57097 x 1

oooo
2P + 1 = 11(92820n + 57097)

goooooboOolnoobooO0ooobO0bOobOoU0oOoU0oOoOoDOobDOoOoDOobDOobDobOoboOoooO
good

Q=3140470000
P = 5105100 + 314047

2P + 1 = 2(510510n + 314047) 4+ 1 = 10210201 + 628094 + 1 = 10210201 + 628095
0000010210200 20 2003,5,7,11,13,17000000 10000000

628095 =3 x 5 x 13 x 3221 x 1

ogooo
2P + 1 = 195(5236n + 3221)

ooobobgooysoooooooooobobobooooooobobUobobooooobooo
good

Q=314051 0000
P = 510510n + 314051
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2P + 1 =2(510510n + 314051) + 1 = 1021020n + 628102 + 1 = 1021020n + 628103

0000010210200 20 2003,5,7,11,13,17000000 10000000

628103 =7 x 53 x 1693 x 1

oooo
2P + 1 = 7(145860n + 89729)

gooooooOgvyoUooOoO0oOoU0OOoU0OO0ODOOU0DODOU0ODOUODOOUODOODOOUODOO
goo

Q =3140530000
P = 510510n + 314053

2P + 1 = 2(510510n + 314053) 4+ 1 = 10210201 + 628106 + 1 = 10210201 + 628107
0000010210200 20 2003,5,7,11,13,17000000 10000000

628107 =3 x 23 x 9103 x 1

good
2P + 1 = 3(340340n + 209369)

o00ob0ooO0oo30b00b0oboooooboobooDoboboobobODobDobOoobOoDOoDOon
goo

Q=3140570000
P = 510510n + 314057

2P + 1 = 2(510510n + 314057) + 1 = 10210201 4 628114 + 1 = 10210201 + 628115
0000010210200 20 2003,5,7,11,13,17000000 10000000

628115 =5 x 269 x 467 x 1

oooo
2P + 1 = 5(204204n + 125623)

goooooo0ds0U0b0O0bOO0ODbOO0DOO0ODOU0UDOUODOUODOUODOODOUODOO
ooo

Q =3140590000
P = 510510n + 314059

2P 4+ 1 =2(510510n + 314059) + 1 = 1021020n + 628118 + 1 = 10210201 + 628119

0000010210200 20 2003,5,7,11,13,17000000 10000000

628119 =3 x 3 x 101 x 691 x 1
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2P + 1 = 3(340340n + 209373)

oboobobooo3obobooooooboboooobobobooboDoboboobOobDoooo
goo

Q =3140630000
P = 510510n + 314063

2P 4+ 1 = 2(510510n + 314063) + 1 = 10210200 + 628126 + 1 = 10210200 + 628127
0000010210200 20 2003,5,7,11,13,17000000 1000000

628127 = 628127 x 1

o000 10210200 000000000000

2P +1 = 510510m + 117617

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=3140710000
P = 510510n + 314071

2P + 1 = 2(510510n + 314071) 4+ 1 = 10210201 + 628142 + 1 = 10210201 + 628143
0000010210200 20 2003,5,7,11,13,17000000 10000000

628143 = 3 x 209381 x 1

good
2P + 1 = 3(340340n + 209381)

g0obOobooo30bobobooooobobooDoobooboboDobDobooobOobOobDOoo
goo

Q=3140770000
P = 5105100 + 314077

2P + 1 =2(510510n 4 314077) + 1 = 1021020n + 628154 + 1 = 1021020n + 628155

0000010210200 20 2003,5,7,11,13,17000000 10000000

628155 =3 x3x3x3x3xHx11x47x1

oooo
2P + 1 = 165(6188n + 3807)

gooooobogoles0oboObOO0O0ODOOO0ODOODOOUODOObDOOOOOUODOUODOO
good
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Q=3140810000
P = 510510n + 314081

2P + 1 = 2(510510n + 314081) 4 1 = 10210201 + 628162 + 1 = 10210201 + 628163
0000010210200 20 2003,5,7,11,13,17000000 1000000

628163 = 173 x 3631 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 117653

gbobooobogobooboboobboobooobuoooboon

Q=3140870000
P = 5105100 + 314087

2P + 1 =2(510510n + 314087) + 1 = 1021020n + 628174 + 1 = 1021020n + 628175

0000010210200 20 2003,5,7,11,13,17000000 10000000

628175 =5 x5 x 25127 x 1

oooo
2P + 1 = 5(204204n + 125635)

goooooboOosOoUO0bOoOoboOoOobOOo0bObOO0obO0oDbDOoOoDbDOoOobDbOODOOoDbDbOUODOO
goo

Q=314089 0000
P = 510510n + 314089

2P 4+ 1 =2(510510n + 314089) + 1 = 1021020n + 628178 + 1 = 10210201 + 628179

0000010210200 20 2003,5,7,11,13,17000000 10000000

628179 = 3 x 209393 x 1

oooOo
2P + 1 = 3(340340n + 209393)

gbooboobooo3obobooooooboboooobobobooboDobooobOobDOoooo
goo

Q=314099 0000
P = 510510 + 314099

2P 4+ 1 =2(510510n + 314099) + 1 = 1021020n + 628198 + 1 = 10210201 + 628199
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0000010210200 20 2003,5,7,11,13,17000000 10000000

628199 =11 x 13 x 23 x 191 x 1

oooo
2P + 1 = 143(7140n + 4393)

O000od0O0o430doodooooooobooooodoooobooooooooooonooog
good

Q=314101 0000
P = 510510n + 314101

2P + 1 = 2(510510n + 314101) 4+ 1 = 10210201 + 628202 + 1 = 10210201 + 628203
0000010210200 20 2003,5,7,11,13,17000000 10000000

628203 = 3 x 209401 x 1

oooo
2P + 1 = 3(340340n + 209401)

gooooooOo3soooooooooboooooobOoobDoobDOoobOoUDOoOobDboUODboO
goo

Q =3141070000
P = 510510n + 314107

2P + 1 =2(510510n + 314107) + 1 = 1021020n + 628214 + 1 = 10210201 + 628215
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

628215 =3 x5 xT7Tx31x193 x1

0ooo
2P + 1 = 105(9724n + 5983)

goobobgoobolesoboobooooobooboboboooDobooobOobUobobDooDOoooo
googd

Q=3141130000
P = 5105100 + 314113

2P + 1 =2(510510n + 314113) + 1 = 1021020n + 628226 + 1 = 1021020n + 628227

0000010210200 20 2003,5,7,11,13,17000000 10000000

628227 =3 x 3 x 29 x 29 x 83 x 1

oooo
2P + 1 = 3(340340n + 209409)
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Q=3141170000
P =510510n + 314117

2P + 1 =2(510510n + 314117) + 1 = 1021020n + 628234 + 1 = 1021020n + 628235
obooo00o10210200 20 2003,5,7,11,13,17000000 10000000

628235 =5 x 17 x 19 x 389 x 1

oooo
2P + 1 = 85(12012n + 7391)
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good

Q=3141230000
P = 510510n + 314123

2P +1 = 2(510510n + 314123) + 1 = 1021020n + 628246 + 1 = 1021020n + 628247
0000010210200 20 2003,5,7,11,13,17000000 1000000

628247 = 503 x 1249 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 117737

gboobgobogobooboboobboobooobuooooboon

Q=3141290000
P = 510510n + 314129

2P + 1 = 2(510510n + 314129) 4+ 1 = 10210201 + 628258 + 1 = 10210201 + 628259
0000010210200 20 2003,5,7,11,13,17000000 1000000
628259 = 67 x 9377 x 1
0000 10210200000000000000
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